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100 &R

(8 Fni)
F5a ) | SERRLTAE | 184 194 204F 214F 226
B TEE K| 14,772 14,685 14,463 14,292 14,082 13,970
it fn = 7,003 7,185 6,819 6,855 6,597 6,468
] wEFH 405 401 416 422 422 419
fit ¥ = 1,254 1,231 1,239 1,153 1,063 1,077
T wEF 28 32 33 31 35 36
fit & = 4,144 6,917 11,636 14,962 12,009 13,794
P w"EPR 213 217 221 220 221 218
fit ¥ = 1,786 1,760 1,648 1,712 1,639 1,737
& a TE T K| 15418 15335 15,133 14,965 14,760 14,643
fit % & | 14,187 17,093 21,342 24,682 21,308 23,075
* 1B 31 m & 72011,000kcal, Bl BT AR
(PR TAE RV R IRA AU 2 &) 8L 237,000k cal A511,000kcallZ 22 5)
*2. 5 H PRI S 12 H31HBE
101 ESHR AR S
F ) | k174 184F 194 204 214 224
- wEFH 6,328 6,215 6,115 6,003 5,881 5,758
it # & 1,299,524 1,306,721 1,176,301 1,214,619 1,156,990 1,127,054
— wEF 41 41 42 32 30 32
fit # = 10,940 10,821 9,973 9,063 6,740 6,994
T wEF — — — - - -
it fm = — — — — — -
2ol WwEF R 20 20 20 24 25 24
fit ¥ = 18,066 21,455 19,789 22,047 19,264 19,432
- wEPFE 6,389 6,276 6,177 6,059 5,936 5,814
it # & 1,328,530 1,338,997 1,206,063 1,245,729 1,182,994 1,153,480
* 1B IZ1m $7-024,000kcals ER RS A ARA =1t
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HEERIRE (BAI'm)

) FRE | ERRITAR 184 194 204F 215
W R 316,775 317,473 317,293 317,652 317,970
A (T5mbl L) 188,091 188,727 188,547 189,131 189,421
R |
F (T5mA) 128,684 128,746 128,746 128,521 128,549
% B ® 124,716 124,306 123,588 123,081 123,009
] | e 129,952 128,104 128,104 125,693 124,486
ARG —
R 1,450 1,450 1,450 1,297 0
PE % 60,657 63,613 64,151 67,581 70,475
RSk VAP 7 ik i
W ~§'[£q 3| \:
103 BB AAGELERINR FER22E3831 HIRFE (E41m)
h WEREL] OOU [TIHAICT [ TR | | B [MEOE | o I ES U N
& R BB | ek REE] VR | e MR | e Ty | BE
FIER 47,182 23,014 3,086 1,266 2401 8465 2414 3743 3,144 — 2404 97,119
fﬁ%(%fs&%) 11,612 1,284 757 0 0 0 0 0 0o — 0 13,653
5l
71 (B E) (25482 2,499 1,772 1,266 2,401 8,111 4 3,573 0 — 27325 47,433
ﬁ;PE 110,088 19,231 557 0 0 354 2410 170 3,144 — 79 36,033
B 2R S AR =1t
EHHRGA R
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W (%)

AR g B2 ek AL s A1 |73 ek AL B33 6K ALT(B) 7 (A) X100
82,893 6 [82,105 81,199 | 3 817| 0 2 89|  99.1
Bl _EMKES
105._EKERe KRR SRR
OB | EMRRDKE (Tol)| 10BKRROKE (m)| iRk )] (ml/H)| #KANTT(N) | R (%)
SRR TR 11,365 35,079 50,000 82,551 99.2
18 11,348 35,373 50,000 82,246 99.2
19 11,491 34,693 50,000 81,626 99.2
20 11,400 36,067 50,000 81,480 99.2
21 11,034 34,938 50,000 81,199 99.2
106. LKERRRIERZER R R
X o & &t RKEFH FEBH it H fefi PR FH
fi = (Fd) 9,806 7,691 2,102 0 13
T He (%) 100.0% 78.4% 21.4% 0.0% 0.1%
Bl KBS
Fa B
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